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積分法　≪基礎≫　小テスト　 (No.2)　解答例

1. 次の不定積分を求めよ。

(1)
∫

x5dx

（解）
∫

x5dx =
1

5 + 1
x5+1 =

1
6
x6　〃

(2)
∫

1√
x

dx

（解）
∫

1√
x

dx =
∫

1
x

1
2
dx =

∫
x− 1

2 dx =
1

−1
2 + 1

x− 1
2+1 =

1
1
2

x
1
2 = 2

√
x　〃

(3)
∫

1√
9 − x2

dx

（解）
∫

1√
9 − x2

dx =
∫

1√
32 − x2

dx =Sin−1 x

3
　〃

(4)
∫

1
x2 + 25

dx

（解）
∫

1
x2 + 25

dx =
∫

1
x2 + 52

dx =
1
5
Tan−1 x

5
　〃

(5)
∫

1√
x2 + 3

dx

（解）
∫

1√
x2 + 3

dx = log
∣∣∣x +

√
x2 + 3

∣∣∣　〃
2. 次の不定積分を求めよ。

(1)
∫

(x − 3)2

x
dx

（解）
∫

(x − 3)2

x
dx =

∫
x2 − 6x + 9

x
dx =

∫ (
x − 6 +

9
x

)
dx

　　　 =
∫

xdx −
∫

6dx + 9
∫

1
x

dx =
1
2
x2 − 6x + 9 log |x|　〃

(2)
∫

(8ex + 4 sinx)dx

（解）
∫

(8ex + 4 sin x)dx = 8
∫

exdx + 4
∫

sin xdx = 8ex + 4(− cos x) = 8ex − 4 cos x　〃

(3)
∫

(3 cosx + sec2 x)dx

（解）
∫

(3 cos x + sec2 x)dx = 3
∫

cos xdx +
∫

sec2 xdx = 3 sinx + tanx　〃

(4)
∫

cot2 xdx

（解）公式 1 + cot2 x =cosec 2xより、cot2 x =cosec 2x − 1であるから

　　　
∫

cot2 xdx =
∫

(cosec 2x − 1)dx =
∫

cosec 2xdx −
∫

1dx = − cot x − x　〃

≪参考≫公式 sin2 x + cos2 x = 1の両辺を sin2 xで割ると
sin2 x

sin2 x
+

cos2 x

sin2 x
=

1
sin2 x

　∴1 +
(cos x

sin x

)2

=
(

1
sinx

)2

　∴1 + cot2 x =cosec2x


